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TEST (i) : GENERAL INTELLIGENCE AND REASONING

Direclions : o guestions no. | o 9, zelect the 4., ¥3:8::32:; T
refated  figureflottors S nember  fremn ife  guen (A & B 9.
aiternetines. Cr 1% am 27

1. Eluestion figures ;

8. MLEJ:NOPQ::IHGF: ?

- T I . € tdy UTSR (BY RETU
- i I L ? iy ERUT _ {2 UTRS
" 6. ACEG: ZEVT . BDFH: T
Answer figures : (A} YWOS (B YRWWV
: S— . (Cr YWYT (I YEVW
| & 5 b |17, BADC.XwEY::FEHG: 7
= | (A} VXETY B TSVU
. . Wy YRCV (D) VEXW
(A (B) (C (D}
A E : 1— ts Hl : 7
2 Question. figures - ©o8 13 19 —

14 14

23 ny ==

C " wE Y oa 14 14
: . R iC) 3_3 Dy —

25

L8 4:5::8: 7

Angwer figures: A 14 (B) 18
@ @ @ @ @ o |
: Birections : In Mmm ng. 10 io 18, seleet the one
[A) (B () (D) whick in different from the olher thres responses,
' H. (A) T-146 By 6-108
R iCh 576 (D) 4-48
11. {A) Mars B} Jupiter
{C) Earth (D} Comet
¥2, (A} Gesta {B) Curan
{C) Bable {D7 Mahabharat
1% (A) Mossage (B} Information
(C) Matter (D) Material
14. (A) Guitar {B) Veena
(C) Flute (D} Sitar
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15

16.

17.

18,

A 17 - 142 By Fl—94

i 41— 28 Dy 14— 28

iA) 3,6.7.8 (B 6,79, 11
i) 4,6, 8, L in 2,649 10
LAY SEEE (B 8731

7)) 4628 D) 2864

1A Tagore (B). Raman

1C)y Bhaskara (D} Ehurana

Arrange the following words in a meaningful
grder !

1. Crapes 2. WVineyaed

3, Whisky 4.  Brpwing

5. Tistillation '

A 2,1.5.4, 3

(B} 3,5, 42,1 |

(Cr 2, 1,4,8.5

il #1453 .

Which will appear fourth in the dictienary ?

(A Xylophilons
B} HXylophagnes
iC Kylopyrography
(0} Xylophagan

Mumber of Llotters skipped in  hetween
adjacent letters in the sorics ineresses by one.
Which of the following serics ohserves the
rube given below 7

4y BEIN B OO0

3y Gl (Y QUNE

In the Wllowing words, the group of letbers
should net contajn more than three vewels.
Which of the following words does sod
conform to the rale 7

(A] SCARCITY

(0 PROGNOSTS

(G} COMPLEKITY -

(D} CONVULSION

Direcilions : In guestions we, 23 to 26, choose the
correcd alternative from the givek pesponses Hhat uall
conplels the sevies. -

28. -7 ,PSV, BHK, TWZ, ILO
(A} BEH By IMP
y ACG D} ADM
24.. 78,86, 7 ,88,82,90
1A} 76 (R 84
W 88 D) 20
26, 3713 2 314387

1A} 51 (BY Bi

e 41 iy 2
26. EJOT INSX AFET, T

{A)] CHME (R} XTOWT

(Cy BGLG M EIOT

#7. My father has two brothers. The youngest bas
two sons amd one daughter. The elder one
has one sopn Aamd Lwo daughters and the
remaining one hag threv sons. IF my [uther
hag four npephews, how mony oousing

- (brothers) have T got 7
(A B iH) %
i} 7 im 5

28, Find the wWrong number i the givan series.
8,7, 15, 31, 64, 127

[A) 127 By B4
(Cy a1 - ) 3

B8, A car covers the first half of the distance
belween two places al 40 km/hr and the
second half' of the distance at & kmdhr. So
what iz the average speed of the car 7

(A) 46 kn/hr (B} 48 kmv/hr
(C) 50 km/hr (D) &0 wmhr
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an.

- In B certain code language, TOGETHER is

writtern A EGTORETH. How ig
CONGRATULATE written in that language

B) CNCOUTRARTLA '
() GNOCUTARETAL
(D} GLNAGTCEURTA

In certain code languags, REQUEST is
writtenn 88 SZHS52TI). How is HRHETEST

writben in that language ?
{A) SaVaRvY W\ S212R1T
D} S2VeTV

1C BauzTu

Some equations are aolved on the basis of &

certain gystem. On the same bazs, find ot

the torrest angwer fir the unsolved equation.

Hd4=76=7 6 =0 thmP=? '

&) 14 {B) 13

iCr 10 Wi

Find out the nuwober which belongs to the

given group of numbers from the a}befna;;vns
2446, 579, 186, 55, 68

(A BB {H) 468

< 123 D 31

If P slands for 4, Q stends for x, R-stande for
4, then

1BQI12P4RE=7
{A) 59 By 26
oy 119 m) 223
F‘mthegim.llmmaﬁﬁeu, acleet the ward

which carrol be formed using the lettars of
the given word.

ﬁmﬂm’mn
(A) PANIC (B COME
) COME ) BAMR

58.

(A} North

Directions | In questions no. ¥ and 27, find the
missing number from the given responees.

168 12 am:\(w mﬁ\/ aE”
15 21 %
(A) 43 B 17
(c) 23 "D 87
1 i1 25
B 3] 1§i
7 B 16
(A} 10 By 14
©r 12 o 16

Bam travelled & fi towards West, he turned
left and walked & fI. then torned left and
walked 4 ft, then turned left end walked 8 fu
again. How far in he now' from the starting

point 7 :
Ay BR (B 8N
0 4f D) 2f

How meny black-faced cubes are thers: in the
given structure ¥

r

e

o

{A) .75 (B} b5

icr 25 o 1

The door of Priye’s house (aces East. From
the hack gide of the house, she walks straight
5O meters, then turns to the right and walks
50 muters again. Fiaally, ghe turns towards
the l=ft and stops after walkiong 25 meters.
Now Priya Ia faring which direction ?

(B} Weat

(T} East T Smuth

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click



http://sscportal.in/
http://sscportal.in/

41,

In the following diagram, rectangle
represents malea, cirele ropresents urban and
equare represenis educated. Which region

mprenmhadumhdurhanmlhu" .
2
] -FF’_‘-‘
ﬂ( L]
4 .
1
T g
(A) B (B) 4.
Cy 6 : o T

In the following Verm diagrem, ideatify the
letter which denctea Film Actors who ame
Saragers bt not Directors.

Film Actors| A

(AY I B C
iCy E i F -
ldentify the angwer figure from which the

piece= grvén i the question figure have heen
ok,

2]
o0 @
(A (B} ) {an

Directians : Tn queations no, 44 ond 45, one or fuo
rladamaents ere given, followed by two conelusions [
and JI. You hove te consider the ataiemenin to be
true cvemn & they seem (o be af vonionce [from
commondy known facts, Yo ko to decide which of
the given conclusions, if amy, follows from the given
slatemenls.

|44 Stotement :

A pocial movement ia an interaction of people
with a common motivationsl bass in
frustration.
Conclusions :
I In s social movement, people who wre
*  patisfied interact with frestrated people.
Il. Frustrated people intersct with each
other in a socis] movemneat.
(4) Ounly conclusion I follows
{B) Only concluaion IT fallows
" () Neither conclusion [ nor IT follows
(D) Both conclugions I and LI follow
45, Statements : ' '
All  erientizts are hard-working. No
hard-working man is poor.
- Conclusione ;
I.  Noscientist is poor.
M. Mo poor man s o acientist.
{A) Omly concluaion 1 follows
(B) Omly eonclusion I follows
(C) Both conclusions ] and II fallow
(D) None of the conclusions 1 or O follows
48. Which of the answer figures iz exoctly the
mirror image of the given figure, when the
. mirror i held on the lins AB ? :
Question figieres ;
! A

Y M
o] P4

FETErraaTA Ry

i
.

o

TAY A . (141
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I?.-Awmﬂhmmmdhymhfmcaetﬁm_ Beieﬁtﬂleanswerﬁg:min which the
: numbers as given o any one of the| | . g
alternatives. The sets of numbers given in the aastote Bigrire i Rdderiembedded;
allernatives are represented by two classes of .
alphabets as in the two matrices given below. Question figure :
The columns snd rows of Matris I are
numbered from @ to 4 and that of Matriz 11]
are numbered from 5 to 9. A letter from theae |
matrices can be represented frst by ite row Y
and next by its column, eg ‘A’ can be
represented by 13, 76, etc., and ‘G’ can [ )
represented by 22, 68, ete. Similarly, you Answer figures ;
have to identify the set for the word
‘EUBLIC. -
Mairix [ Matrix I
ol1|2|8]|4 sls|7]|&a}o -
GlA|T|O T|B G|P|ITIAM|E — == - =
[ i
1iT|E|PIA|W GIG[I]|OIT|M @A B (c (m
ZIRMIG|(G|[1] [T|IE|AJL|T|M "
sjulsMMie|u] [s[r|a|BfL|T :
4(P|L | N[E[C| [8INIP|B|GIP
(A) 12, 30, BT, 41,66, 33 ;
(B 99,30 87,7793, 44 : 50. A piece of paper is folded ané punched as
SCY 65, 01, BT, 98, 34, 87 ) ) shown below in the gquestion fgurea. From
(I} 40, 30, B7, 88, 24, 43 the given an=wer figures, indicate how it wAll
’ appenr when opened 7
48, Components of which of the snswer figures Question figures:
will exactly make up the guestier fguref :
given below. ) - ) [
Question figure: 1T HERN Al 9
; h\\ ) "-, ‘ L]
E‘ | = ‘
Anznver figures
Ansoer figures ;
—_— = Yy / -_— nﬂa o =3 .ﬂ o oo
| _ \\_ E L . o 9 lo o gg o o
= 7 O”r""‘t . g i@ a of|lleoe e
(A) ;1] . w o 1A} (B iy (m
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TEST {ii) : GENERAL AWARENESS

5

waz the firsl eponemist 10 have coined
L “Micre Econoimics” and ."]llaau
"7

(A) Milton Friedman

(B) Ragrar Frigch

(C) JM. Keynea

. (M} Paul Bamuelson

EE

Innfmumlerp-rinemy,undmidnnm
what shall be produced is made by

(Al - Demand

(B Ineame

{C) Pries mechanizm

(D) Coat

The main resson for the high grewth of
money aupply in India since 1970 bas been
the rise in '

(A} Foreign lending

(B} Foreign borrowing

{C) RBI credit to the grvernment

(D) Bank credit to the private sector

Who was the first Muslim to be slected as
President of the Indisn Nations] Congross 7
A} Syed Ahmad Khan '
iB) Agha Khan

{0} Muhammad Al Jinmah

(D} Badvuddin Tyabji

Which of the following was mof known to the
Rigvedic parind

(&) Joint fumily aystem

B Agriculiure

(C) Marriage systen

(1) Varna system

B&.

7.

The characterighic - feature of democratic
socinliam is

(A} FPrivatization (B} Liberalization
() Nationalization (D) Socialization

If & growp of rich people use power for their
pelfish goale, it ie called a8

{A) Monarchy

(Bl Nigarchy

{C) Polity

M) Democracy

Who said that "Man is bom free and
everywhere he i in cheaina™ ?

{A) Locke (B} Aristotle

(C) Melarx iTN Rousseau

A civil gervent in India may exercise political
liberty by

1A} jouung any palitien] party

{B) ecomtesting in the elections

{C)- eriticizing the government

(D) exercising his franchize

The term TLaw’ used in the phrose Ruole of
Law’ refors to

(B} Natpral law

(G} Common law

{I¥} Coovemtiona of the Conatitution
The . total physical prodnet per wmit of a
variable input is lonown ax

(A) Avernge product

(B) Average returma

(C) Avernge phywical product
(I Averege revenue

The discount on price when a large quantity
is purchansed is known as '

(A} Volushe dimeount

{B) Maximum disconnt

{C) Minimum diseount

{0} Marvmal digeoumt
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‘(&) Hagfiah

 What typenéfrait is pineapple ?
(A) Bilqua "B) Sorcsis -
(L) Byconms (D) Samara

Strobilus is & structure sasetiated with

(A ]"l:'a_ iR} _F{d,ﬂb}
C) Pinus (I Palm

Signat-sing i seon in the life avele of
(A} Mosquoito iB) Flasmsdiom
{C? Entamosha D) Giardia

The number of eeeipital condylos in man is
(A} Oue Bl Two
(2 Three {0y Pous

Migratory -~ farvae  of Ascarie  produce
spmnptoms of preamonia. This is known as

(A} Down's syndrome

(B) HKlinefelter's synd-oine

{C) Turper's syndrome

(D) Loeffler's syndrome

Which one of the Gllowing amimals im an
osmoconlformer 7

(B) Soul

{C) Whale (I} Hoha
Which one of the following is the source of
Baolar energy 7

(A) Nuclear fission

(B) Nuclear fasion

(C) Artificial radicactivity

(D) X-ray emigeion

Who, for the firet . time, succescfully
deteremined the ehargs of an electron ¥

(&)} Thomson B l![ill:h.n =

{C} Rutberford (D) Coulomb

———

7L

T4

The first Muslim king who iovaded South

" India was

(A} Balhan .

(B} Mohammad bin Tughlag
iC) Babur

Dy Alauddin Khilji

The Great Path was located in

{A) Harappa (B Mohenjodaro
{C) Lothal (D) Ealibangan
The Moghal jodicial system was based on
{A) Tersian law () Hebrew jaw
i) Islarsic law (D} Indian law
Hurnecanes are penerally

(A} active over the land
(B) travelling in Tamilics
() dust storms

(D} ackive rwrer the sea

Orinoes oil belt ie in : _
A} Dubai {BY Saundi Arahia
'} Venezuels (i¥). Brazil
The highest peak in Africa is
(AY Asonesgun
{B) Kilimanjaro
{C) MeKinley
() Mount Elbris
. Ala]fert;l'l:lm Earth made up of mixed metals
&0l ailicates is called &
~ (A) Hial B} Sima -
() Mantle (D} Mife
The exhaustion of soil fertility is the result of

(A} Cover eropping
B} Multiple cropping
1Ci Rotatien cropping
(D) Owver cropping
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81.

" Injectiore. of weakened microbes to eonfer

regialanice Lo a disemia_kw as
(A1 Transfusion .
{R1 Vacrination

(€1 Inoculatiom

(D} Imcimation .

Who, ameng the following, is the author of
‘Das-Kapital' ?

1A} Ronssean

(B} Karl Marx

{C) Chanakya

(D) Montesguien

When and where will the next Olympics be
held 7

(A Baijing, 2014

By Bhanghai, 2012
(G Rin-de-Janeirs, 2016
(D) Taivwan, 2013

A Persian form of singing a poem is called

(A} Ghazal (B Qawrali
{£) Thumn {D) Bhajan
Green-houte effect canees

(&) igcrease of lemperature
(B} incresse of molsture in air
10 decresse of temperature
(I decreass of moisture in adr

The advantgge of rain-water harvesting is
that it ik

tA} helps in reducing foeds

(B, intresses the ground water level

{C) causes more raing j !

(D) reduces flonds and replenishes groynd |

waler

The *solder’” used for éonneeting electronic
cirouits congists of .

(A) Leadaml Tin
(B) Tinand Iron

(C) Copper and Lead
(¥ Lead and Aluminium

What type of molecular motion is responsibile
for heat conduction 7

{A) Translational

{B) Vibrational

(T} Fotational

D} Spin

Pick the odd ooe out.

{A) Compiler-

{B) lnterpreter _
() Aspembler R
(D) Word procesasr i

MS-Office is an example of
{A) en operating syetem
(B! & telecommunication software

(C) a programming language
(D} a productivity software

Ia India, the day Egﬂ_' September is celebrated
as Teacher's Day to honour the birthday of

(A} Habindra Nath T!w:rre

(B} Dr 3. Radhakrishnan

(CF Der. Rajendra Pragad

(I Mirs. Indirs Gandhi

Which among the following polluting agents
is refpomssible for creating a hole in the azone
layer ? _ . )

Ay CO {B) CFC.

IC) 50y (D CHy
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#l. Flraghis ° _ ' 6. Volvo, the car manufscturing  eompany,

introduced
&) COq
* (A Alarm
(B} Organic particulate matter
=) i
(€) Swall ash particles et
(C} Boat beleg

(D} NOy

(D} Eear view mirrorg

#2.  Addition of chlorine to raw water before
#7. The Dark Continent is

trentment is kmown &3 .
(A} PFlain chlorination : (A} Asia
(B} Postchlorination : (B Australia
{C) Pre-chlorination ' . (O Africa
(D) Super-chlorination . (D) Europe
93. Which of the following is ms? n water |98. The major constituent of air is
trestment technique 7 . (4) Nitrogen
T8, Bevameaemrl {B) Carbon dioxide
(B) Ion exchange ° | I (©) Oxygen

() Electro-dialysis

- Dy Hydrogen
[T Ebﬂmtlh#pmpdnhm '

) . B8, The souring of milk to cwrd iz an example of
94. Which one of the following is 8 major indosor | ~

N —— (A} Saponification

{B} Putrefaction

{C) Fermentation

I} Esterification )

(4} Ozone

(B Perory Acetyl Nitrite (PAN)
(€) Carbon monoxide , .
(D) Su.'lphm&'mtiﬂal 100. Which one of the following eompounds is

_ formed when formaldehyde is tremted with
8%,  Muolti Drug Therapy is for the infection of Grignard reagent 7 :

(A) Leproay (A) Primary aleohol

B AIDS . o ' (B) Secondary aleohal

(€ Cholara, ' {€) Tertiary aleohal

(D) Hepatitis : (1N Dihydric aleohol
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101,

1402,

103,

144,

E0S.

108.

TEST {iii)

PART - A : GENERAL ENGINEERING

The woodworke should be moamired to
nEAreet

4) 01l m

(B} 0002 m

G 0-E m

(D) 0004 m
Anti-siphonage pipe s connected to

{A) Main soil pipe - '

(B) Bottem of P trap W.C.

(C) TopofP trap W.C.

(D) Side of Water Closet
leﬁmmthmkmn:ﬂﬂlltuﬁr. 1:6G0m

cement required is -
(A} 0-200 m> - (BY 0247 m®
) 0274m® D} 0-348 m®

111.

114

113.

(CIVIL AN STRUCTURAL)
The base material for distemper ia 107. The moat auitable stona for building piers is
4 Chalk i (A) granite (B) limeatone
(B} Lime () marble (D) sandetone
(C) Clay ;
(D Lime putty 108, Mumber of modulsr bricks required for one
cubie metre of brick masonry are
The amount of water wsed in performing (A) 400 B) 450
seiting Lime test of coment i (assnoning ) 550 o 500
p = atandard consistency of cement)
(A} 080p (B) 065 p 109. The planticity to mould bricks in suitable
G 080 p (D} 086 p shape ia contributed by
. . . . {A} Alumina (B) Lime
f:pnmuudmmtmmﬁﬂmnsm o “‘5"“_’*“ (D) Siliea
(A) acceleratar | 120, The erushing strength of & frst class brick ia
(B) air entraining agent {A). 8 Njmm? (B) 66 Mjmm®
(C) planticieer () W05Nmm" (D 76 Nmo®
(I} retarder

Whlﬂlnfthefdlmingmmmhi;mhhfw

wee in urgent repairs of existing massive

eoncrete strustures such as large dams 7

(A) Ordinary poriland cement

1B} Low heat cement )

Ty Hapid hardening cemnent

I Sulphate resisting camant

Formli.ihinx'mm;lc'ﬂmrimuse

(A) Carbolic acid  (B) Muriatic acid

(C)  Acetic acid M} Omalic acid

Thehnmhmmunﬁhmhﬂm
the apenings lke dooes, windowa, eto.

(B) arches require strong abotmentz to
wilthstand arch thrust

0y arches are difficult in consteaction

I All of the above
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114.

14&

116.

117.

118,

119,

Ranging ias defined as

(A} measuring the distanee from atartiog
point

eztablizhing intermediate points on a
chain lina

the distance between snd po.u:Lts

= point on & chain line

[123]

(i
D

Compute :heuglébeﬁmmthelinﬂ AB and
AC, If their respective bearings are 529307
and 328745,

A 2715 iBy 6°15°
o) 11715 Dy B’3735"
The Whele Cirde Beariag of a line is 2877156 .

The Reduced Bearing of the line is
(A) S107°15W  (B) S17°W° W
(C) NTZS' W (D S10715°E

A line joining scme fxed pﬂipla on the main
survey lines 15 called
Ay check ling
) cham ling

(B} tieline
(D), base line

Which nf‘ﬂm Fnllnw‘mg m.a'hhud.s d:'n-unmunng
is maost suitable for hilly terrain ?

(A} Direct method

A} Sguare method

{C} Cross-saction method

{I¥ Tacheometric method

A level hine is &

(A line parallél o the ez apheroidal
suriace of {he earth '

{H) . line paaging throegh centro of eross hairs
and centre of eye-piece

{C) tine passing through ohjective lens and
Lhe eve-pecs

{2} horizentsl line

120,

121.

1Z2.

138,

If 7 ia the rate of interest expreased in
desmal and ‘n' is the number of yeare, then
coefficient of ancual sdnking find, T.is

KE+ i)™ =1]
(t+ik=—1
i
{lui}“a—l
i
- +1

m L= >
mw+i* +1

@ 1,=
B I, -

€ L=

glinS

——t
B0 . -

4 m

Eeetioa A&

The above figure repressnta pimi and ssetion
of an excavation loyout, The wolome of
earthwork in exeavation of foandation tremeh
is

(A) 6-528 cu.m.
(C) 5832 eu.m.

(B} 3-084 cu.m.
¥ 9600 cu.m.
If d be the dinmeter of MS or tor stee] bhars in

mm, the standard wmgh:t{ml:g}permmnnf
the bar is

A 0-00618 d®
By D0DE1E d
(Cy D-00R1E 4%
@) 000816 d

'Ihemﬂjnuimi;ﬂzntﬁﬂdmwmmm

- work From

(Al higher level to lower level:
(B) lower lewel to higher level

(C} part to whole
Ly wt_mlabupart.
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124,

128,

- 127,

Sand particles are mada of
(A) Eeolinkie

(B) Mijee -

() Montmorillonite

(D) GQuarte

A ghallow foundetion i= deflned as a
foondation which

(A) has low besring capacity

(B) hpz a depth of embedment less than its
(T} 1= resting on the gronnd gurface

(D} causes less settement

If the volume of voida is equaal to ﬂ:,evﬂ.l.m

of solida in & apil mass, then the values of

porueity and voida ratio respectively are

{A) 140 and 043 {B} 00 and 1-0

{C) 15 and 140 D 140 and 0-6

The hime stabilization ia very effective in
treating

(A} Sandy soie

(B) Silty soils

() MNon-plastie soila
(D} Plastic clayey sotls .
& B00 mm square bearing plate settles by
15 mm in a pate load test on & cohesive soil
when the intensity of leading ia 0-2 Njmm®,
The settlément of a prototype shailow foling
1 m oquare under the same intensity of
londing is '

(A) 15 mm {B) 30 mm

(€ BO mm (D} 167 mm

The specific spead for a turbine has the
dimensions of

Ay pYE AR

By T
iy pYR B
(D FL e

180.

‘Offsets’ are

{A} Latersl megsuretwnts from chain line

{B) Ties or rcheck lines which are
perpendicilar to chain line

fCIMormjmrmmtaimchnm

13k,

s,

surveving
(D} Chain lines which go out of alignment

T_lhﬁl"hu.ﬁumnct'thalinm'ﬂﬂiudﬂcm
40" and L20” respectively. The included aggle
between AB and BC is

(A) 407 B} &°

iy se i 1

If the sum of northings of 5 traverse excesds
the sum of southinge by 1 m and sum'ef

eastingz cxcoeda the sum of weslings by 1 m,
the resultant closing error and itz true

hami:nﬁarermpud-ivalr.
(Al 2 m,N45°E
(B) 1m N45E
(C) 2m, Nds*W
(D) 2m, N45°E

If.in & closed traverse, the surs of the north
latitudes is more then the sum of the south
].Iﬂ.hlﬂ.ﬂﬂmdﬂllﬂﬂ:t_lumﬂfmdmp.rtum
is more than the som of east departures, the
bearing of the cdostng line is in the

{A} SE guedrant :
{B) NE guadrant
i) NW quadrant
{1 BW quadrant

The angle between true meridisn and the
magnedic meridian at the Hme of cheervations
e kv 4s

(A} Orlentation

(B} Maguetie declingtion

{Cﬁ Magnetic bearing

{IN - Dhp
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. A aurge tank is provided in hydmpu-
aschemes to

{A) reduce water hammer presmres

(B} reduce frictional losses

{C} increase the net hoad

(D} strengthen the penstocks

In & two-dimensional fAow of Audd, if & velocity
polential function ¢ eximts ‘which satinfies the
rel ation

a% i

fx? a2

ay®

(A)] sleady incompressible
(B] steady lamigar and mmmpmm‘blu

= [}, then the flow is

. C) irrotational and incompressible

13T,

188, A river training work is-generally required
_ when the river ia ]

“{A aggrading type

“{IM turbalent and incompressible

Reynolds number iz the ratio of the inertia
force to the _
{4) surface tension force

" {B} vizeous force

1) gravity foree
(D} elastic force

{B) meandering type

- (Cy degrading type

(0} both (A aad (C)

The water utilizable by plonts 18 available in
the form of

¢ (AY gravity water

M| gy-h-qmpnwn&r
(C) capillary water -
)] themimh_mm

1y

141.

148

14y

144,

145,

(B}

Bulk modulas of a fluid ia the ratio of

{A) sheer stress to shear strain

increase in volume to the viscosity of
fluxid

imrense in premsure to the volumetric
strain

(D) critieal velocity to the velosity of fluid

The busyancy depends apon the

{A) pressure with which the liqmd is
displaced

(B) weight of the liquid displaced

(Cy viscoaity of the liguid

(D) compresaibility of the liquid

The discharge over & rectangular noteh is
(A} inversely proportional to HY?
(B) direetly proporticnal to H**
(C) inversely proportional to H®”
(D} di.ﬂaﬂrpmpprﬁnna.lbu}[ﬂ&

Thnmﬂmmiijﬂiﬁndamhn&ulu

'd:annplisthn-ir'uqh;drauﬁc radius equal

to

{A) twice the depth
(B) half the breadth
(€} half the depth
(D) twice the breadth

-

In a vectanguisr. channel, the ratio of the
specific energy at critical depth E, io the
eritical depth ¥, is
(A) 20
{C) 1-&

- By 1-0
(D) 1-26

L ¥,

In qpen chamne] flowa, the characteriatis
length comomenly used in  defining  the
Reynolds mumber is the

(A) depth of flow

(B} wetted perimeter

{C) hydraulic radius

() areaftop width ,
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1l

1417,

148.

148.

150,

151.

A beam fixed st both ends carries & waiformly
distributed load on entire kength. The. ratic of

bmdir'mmﬂlta_t_tha support te the’

bending mement al mid spad {9 given by
(A 06 (B 10
i) 16 oy 20

]nmufbia:iuiulm ﬂummmumvnluu
of shear stress is given by

{A) Difference of the normal stresses.

(B) Half the difference of the normal stresses
{C) Bum of the pirmal stresses

(D)) Haif the sum of the tormal Freases

Frwadrmhrplahﬂfﬂiméﬂmﬂ
circle is cut out whose diametor in a radios of
the plate, The distacce of centre of gravity of
the remsinder from the cenire of circular
plate s *

i) 20em

(B} 1-Hem

(2) 1-0cm

() 06 em ' . :

In a eaction pure bending, the
nmh'a]awﬂmei#uwh__

(A) comupression sirain

(B) tensile sirain

(C) merostrain

(D} Mone of the shove - ;
The ability of & materisl ta absorts energy tl1
the broaking or ropture takes place B known

(A) Hardness - (B Toughness.
At the pomt of contoaflerems

() Bending mdunent is maxiroum .
() Bending momant ia zero
(D) Bending moment is zero and its sig

166,

If the slopping dietamce and sverage langth of
& vehicle are 15 m and € m respectively, then
the theoretical maximum capasity (vehicles

pu-huw:-ufah'aﬂinlmcut 5 speed of
10 mvpee Iz

(A 1600 {B} 2000

) 2600 M} 300

Iﬁ highway consiruction on superelevated

- (A} siden tovrnrds the santre

(B} ecentre towurds the sides .
(Y lower edge towards the upper edge

© {0} upper odge Lowasds the lower adge

The pormissible Heit of sreenic in drinking
water an per the gnidelines of WHO is

(A} 0-01 ppma '

(B) 0-01 pph

(€1 005 ppm

(D) 005 ppb

Which ome of the following sequences ix the
most suitable for reating vew surfoge water

" to matke it suitakle ﬂ\‘r_,dr]nh.t*' purpl:lt ?
"(AY Boereming

— ﬁl.t.rlti.un
nud:.manl:u.tlm-ld'l.ﬂnfethm

(C) Screeming —  sedimentation  —
disinfection — Glteation

(D} Screenmg —;._ md:maumtmn »
© filtradion — distheilbetion .

lﬂThepuwl&ﬁmﬂaanuparm

i [

recorda were 200004, 210000 and 230000 for
ihe yeers 1981, 1901 and 2001 respectively.

The popualation of the town a8 per geomotric

menn method in the year 2009 is
(A) 244872 (B) 246872
(C) 245820 (D) Moo of the above

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click



http://sscportal.in/
http://sscportal.in/

157.

A simply aupported beam -8  currying
diatributed load of 'rero’ intensity over one
support bo linearly varying nature of intensity
“w" over the other support. The shape of BMD
will be

{A) linaar

{B] parabalic -

{C) cubical parabaolic

- i) zero

158,

160,

The maximum dinensicn of a core saction for
a reclangular crosg-section under sccentric
loading on a column (b= d) is

(A} bpé #

B) df6

(o 4afs

(Y b3 and 43

-S}mrﬁmatﬂmm]ﬂ-lpﬂnp&int‘ﬂin'tha

Tollowing beam ia . 3

A D B M
p & —)
) ML ) aM/L

Two identical simply supported besme of spem
T are subjected 4o equal load “W. Onge beam is

© pmrying the load W' at il cemire (as

16L."

T 4
1n & Mobs'e circle of o =  plane (o = norsd

poncentrated load) and the other one is

. earrying it m the form of wd.l. over the entire

span, The ratio of their mid-span bending
morment will be
1

w3

(B 2

i B

strees, T = shenr press), the vertieal Sinmeter
(A) Maximum shear sireas -

(B) Maxiown normal stress

() Principal stress .

{D} Minimum normal stress

143,

188

164.

185

.| 1688,

The shear disgram for & contiever beam
. subjected to & concentrated load at the free
 end is givén by afan

{A) Triangle

(B} Reciangle
) Purnbola

(D) Ellipse

Deflection of the free end of a cantilever beam
Mﬁmnmﬂhdw“midnpmis
given by

(A) WLY3 EI

(B) 5WLY24EL

() EWLY4BEL

@ WL%f48 EI

Of the several prismatic beams of equal
lengths and of game material, the beam that
can carry maximum load in flexure is the one
(A} Depth of section

(B) Area of crosa-section

() Eection modulus

I Moment of inertia,

The mesximoum deflection of a simply
supportad bearn of effective span L and

subjected to a eentral concentrated load W ia

given by

(A) WL/8 EI

(B) WL?/24 EI

{0 WL48 EI

M & WL /384 E1 .

A coneenirated load W acts at the centre of a
mmply supperted beam of length L. B the
load is changed to a unifermly distributed
loed over the entire span, then the ratio of
maximum deflection under concentraied load
and under uniformly distributed load will be
(A) 1-2 {By 13

) 144 I 85
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187,

168,

1T

R+

171

The equivalent stiffness of two aprings of

- atiffneas 8, and 8, jeined in seriss ie given by

Bw

{A} B8535 +3y)

B} mﬁmsj*sﬂ

Ch By+9,

(D} 8 By _

Buckling loed for an sxially leaded. column
with both ends fixed in given by

) R | 2By

© 45°EYf D) TEH4 P
Poisson's ratio |Lis defined ae the ratio of

{A) mxoal strain to trangverae atrain

{B} axial strain to shear atrain

(C) transverse strain Lo axial struio

(D} shear strain to axial straio

In & thin eyltindrical shell, the ratio of
longitudinal stress to hoop stress is

(&) -5 (B 10

(m 20

The grade of concrete M 20 means that

characterishic compreasive strength of 156 cm
eubes after 28 days ia given by

(A) 10 mem: {B) lE_mem:

{01 20 Nfmm i) 25 N/mm

172 You are asked to construct & masgive comcreta

dam. The type of cemant you will use is

{A) Ordinary portland cement
(B} Rapid hardening portland cement
{Cy Low healt cement

- {IN Blast furnaee alngeemént..

175

174.

The object of curing is moi 1o

(&) prevent the loss of water by eveporation
(B} reduee the shrinksge of cement conorete
(C) preserve the properties of concrete

(I¥N redusce the etrength of concrete

The initial setting time of Ordinary Portland
Cement {OPC} is - )

(A 10 wain. (B) 30 min,

(C) 45 min; (I 60 min,

175,

A giructare which offers negligible or zero
resintance on bending st a0y point @ known
a8

- {A) Beam

178.

178,

178.

{B) ' Girder
{C} Lintel
(D} Cable

The carvature at any paint [T]"L-J along the

curve representing the deformed shape of a
beam is given by

w s/ [11 4]
®) ﬂdayf-ﬂkﬂ‘l/ [u[g-ﬂm
(3 t.{dayf-chgl/ [n% 2

(D} il::lﬁdﬂ/ [n%T

The moment requived to rotate the nesr and
of o prismetic beam through unit angle,
withoit translation, the far end being fixad i

(A EIL B 2ENL
) 3EYL - 4 EIfL
A retaining wall of trapezcidal section having

base width b rotaine earth at its back. For no
tengion to be developed at base, the resultaol
foree will intersect the base from cemtre line
of the base, within a distance of

A} bf2 {B] hy4
) b5 . D hfs
Angle of bwist of & drcnlor shaft under the

action of a torsional mement T is given by
(&) GJ/TL (B} TL/GJ
(C) TG D) TGHIL
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181,

gypsum or Plaster of Paris is added te
(A) increase the atrength of coment
(B mnitify the celour of cement

{C) roduce heat of hydration of sement
(I mdjost setting time of cement .

Minimun: pereentage of tengion aleel in om

Rl:ﬂbunmfnrfaﬁﬂﬂnhdiu
(A} 012 (Hy 017
Cr 022 () 080

As per IS 458, the eoffective lemgth of
cantilever ahall be taken as

. (A) ecloar span

i L1] dmepan+m-ﬁ!m

(C) elear span + effective depth

() clerr epan + effective wridth

If the sodular catio i8 ‘W', stieds tatio a sheel
and conerete s %, then the eritical neatral
aris conatant "k’ ic given by

(A) mfim - 1) (B) mftm & r}
() (m+r)fm M) o
For two w--l:ﬁu. i.p. punching shear, the

the following relatiom t, < Ky, where 7
pcronding to working sires: method ie
expresad an s

A o1 f [y :1] ﬂ-lsﬁ:'

© 0By @ 04y

The minimm hunm.l iﬁunnm berbvresary

. twumﬁnuinﬁuwmthusnhmldhn

(A) diameter of larger bar or 5 mm more
than the nominal maximom sise of
coares aggregate, whichever is bigher

(B) & mm more than the nominal size of the
aggregate only .

) Emmathnthed:md’thahu

(D) None of the above

184,

187.

'u!'mnmte-mayhe

I 045

High percentage of C3S and low peresntage of

Cef in a cement will result in

(1) rapid hardening

(ii} high early slrength with high hest
generation

(iii}) roore resistance Lo chemical attack

The correct answer is

(A) Omly (i)

{E_i Omly (Hid)

{C) Both (i) and (1)

([¥) Beaoth (i) and (i)

Aa per IB 456, aplitting tensile strength (f_)
£ estimated  from
compresaive strength as

) =_I}HE‘||"I:
B) f =07/,
© =07 Jf

@) f.=08T5

Marimmm. admissible water-coment ratio for
mild snvironrnental exposurs should be

(A) D56 (B} 050
(D 040
Adr entraknment in the concrete increases

" (B) stremgth

18,

() the effect of temperature variation

(D) the unit weight '

Which of the following is added for quick
setting of cement ?

{A) Gypsum

- B} Alum

iC) Zinc sulphate .
D) Aluminiam sulphate
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191

194,

19

The distance between two rivels méasmed ]
iz known s o

{A) pitch ; "=

(B) gange

) mtaggered pitch

(D) edge distance

Por simply supported bearre, the sllpwabla

{A} 1/325 of span
(B) 1/360 of span
(C) 1/875 of span
(D) 1/400 of span

Thuhmnppmgth:mmm
penerally knowng as

(A) headers

{(B) trimmers

{0} siringers

{1¥ spandrel beam ]
i
Maxiranm size of a fillst weld for-a plats of |

square edgeis . &
&) jﬁmhpmmmdtha.

plate

(B} one-half of the thickness of the fate *

o thhlm_muﬂheplmn-ﬂf

M} 15 mm more than the thickneaa ‘of the
plate - |

,  cemire of any .hole. to tbu,n-uut,ﬂ-ﬂt-
 edge shall not be less than. '

R

(A) 15 times hole dia’ ]
(B) 17 times holo dia '
(C) 2 times hole dia

(1) 1-5 times bolt / theet dks .-

188, -In a-wingly reinforced beam, if the permissiile

siress in concrete resches earlier than the
perminsible struss in gbeel, the beam section

* ia called

{A] Under reinforeed section
{B} Ower reinforced section

() Palanewd settion

(B} Ecomoamic section

If ¢, is the stress in bar and 7, is the design
bord stress, then the development length of a

. bar of diameter ¢ is given by
(A) ““‘ (B) _t._z..
T 4y
. M9 . $o
—_— -
(] . ﬂ?} 3

Bide facs reinforcement shall be provided in
the minforced comcrete beam when depth of

web in the beam exopeds _
(&) mm_ (B} TH) mm
) 1000mm (D) 1200mm .

-A cantilever retaining wall should saf be

nged for beights more them
(A) 4m iF) 6m
() Bm {D+ 10m

beam

'(4) is maximum at nevtral ixis

(B) decroases below nemtral axis snd
imerrases above neatrl axia

(C) incremses below neutral axis and
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104,

- TEST (iii)

PMT B: GENERAL ENG[HEEEiHl&
(ELECTRICAL)

The voltage wave v = Vg, gin (ut.— 16% volts is
applied arrose an ac cireuil. If the elrrent
londs the voltage by 10° ond the mexipum
value of current is I, thes the aquation of

current is

(Al i=L, =in (ot + 6 amps

(B} i = 1y sin (ot - 357 amps

10,

1064

L4,

-

(C) § =T, sin (et + 25°) umpy v
(D) i = Ly, #in (wt — &7} amps
The mm.vnlue of currenl {I.) of a
ﬁnumﬂmlmpfmkwlmtlm‘lh

Im
(A) Toy= 3t
z _In-:
e @n-g
'I‘haamﬂudmndmamﬂuﬂmhy

n-—-N‘h

B II'I'=%II:|

oy I, =

wharaiutlmmfinﬂumﬂ N in the sumber,
of turns and d¢ in the insantancons flux
Linkage with the coil in time dt.
'I‘henagnhudminthammudum
(A] Hans Christinn Qerated

{B} Andre-Marie Ampere

(Cy Michael Faradsy

(D) Emil Lenz

The mutual inductance between two cails
having self inductances 3 henry and 12 henry

and coupling coefficient 0-87% is
A} 1275 benry

(BY 51 heary

{C) 0-425 henry ; - .

{10 1-T heory

106,

107.

108.

Resistance temperature coefficient of copper
at 207C is

(A) 0-0045/C
®) 0-0017/°C
() 0-00895/°C
(D) 0-0038/°C

The load characteristic of de shunt generator
in determined by

(A) the voltage drop ib armsatore resistance.
{B) the voltage drop due 0 armature
reaction, voltage drop due to decrensed
field eyrrent wnd voltage drop in
armature resiatame.

the voltage drop due to armaturs
reaction and weliage drop m armature

Bule
the voltage drop due to armature
reaction, Mﬂmpduntndmmd

eurrent and volisge deops o
armature resistance and Geld resistance.

(i

{DH

E

How many wati-seconds are supplied by a
motor developing 2 hp (British) for 5 howrs 7

(A} 26856 10" watt-seconds
(R 4476 = 107 watt-scconds
(€D 2648 x 107 watt-seconds
(D) 63943 x 10* watt-seconds

A 4-pole generator is running at 1200 rpm.

_Theﬁnqnanqnndﬂmpnﬂndufthtemf

W‘I{Eﬂmlhmlﬂmm

((A) BQOHz, 0-02 sec.

{B) 40Hz, 0-025 sce.

HC) 300 Hz, 0-00383 sec.

(D) 2400 Hz, —-— sac.
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108. The cingle phase Induction Motor {TM) which | 1% Two parallel conductors carrying current in
doen not have centrifogal weitch is - ' oppoaite directions will exort on cach other
(4) capacitor start single phase 1M (A} an attractive force '
{B) resistance eplit single phase IM (B ‘wpuprulatirs S
- . (C) an axial force
{C) capacitor stert capecitor Tun single . (D} nok

phase M

permanent capacitor run single phase
M

o)

110. When a multiplier is sdded bt an existing

113

The wait of reluctance of magnetic cirowit is
(&) ATfm

woltmeter for extending ita range, its ) Whenfin
electromagmetic damping : (C) AT/Weber |,
{A) remsins unaffected (0} Weber/AT
(B) increases : - =2 .
. 114, In indicating instromenta the springs are
(C) decreasasn | ' . inlr used to .
(D) changes by an amoust depending an the (Ar conduct the current to the coils
S (B) held the pivet in posttion
111, Phasor disgram of load voltage (V), eurrent in (€} econtrol the pointer movement
. pressure coil (Ip) and current in current codl | M} reduce the vitration of the pointer
{Ig) is shown in the figure when an
alocirodynamic wattmetsr is used to measure | 118 A balsmoed  S-phase, S-wire aupply feeds

power. Thi rending of B watimebonil. b
proportinal to

balaneed star conmested remstors. If one of
the resptors 1= disconmected, then the
(A} 3333 B) 50

£} 6667 Dy 76

I‘hemtﬂﬁn:ﬂtheﬂdofahugpenmm
bar magnet ia 100 x 10~° Wh. The end of thia
magnet iz withdrawn through a 1000 turn

(A} cos (B +w) -oﬁlin;—ﬁammh.']ﬂwiﬁduneﬂa.m.t in the
(BY coswy _ ooil iz

© cosoosy (Al 00V B) 20V

(D) cos B cos (B + w) © o2v m 002V
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7.

- e ML

'{leiii,b-i. o

L18.

_ﬂ:nﬁ'nqnm:yd'rmngnlnm train v; in
!ﬁﬂ:,ﬂ:mﬂnhenﬁhamm
+ 10V
5000
7
¥ "ﬁ:g-ﬁ?
[' -
(A} 20ma (B) .64 ma
(C) 128 ma (D) - 18 mm

In refereace to the figurs, the voltege
wavelorm vit) is measored by a PMMC, a
wwmﬂmmm&n
moving iron (M) instrument; Two Hets are’
pmpnm_d:ﬂ:uqaﬁu; "

wit)

o] *t
e
Instrument List List of instroment
o PMMC I E‘i.l"
b.  PMMC rectifier 2TV
i 25V

!hzmmwummhi:ugﬂuimmm«s
and their resding is -
(A) md, b, o#i
(B) amdii, bdi, ed
(©) i, bedii, ol

mwudnp;mm-uhmn,mm
thtmﬂlﬂmﬂlhmrm-md’ﬂmu

118,

1ZD,

An smmeter of registance R, is placed in an
arrangement a5 shown in the figure, Material
of Ry, Byy, in copper wheress that of Ry, R, is
manganin. The eandition for which the mater
performance  is  compenssted  aguinet

(B)
(LM

H‘tllﬂ“r’.ﬁﬂﬂsiﬂmﬁaﬂmamﬂ
voltmeter of full-scale range 0 ~ 220 V and
internal resistance of 10 kQ, reading of the

_wltmebu'willhe

| 121,

(A oV By 11042 V
G TRV i 6EV

To maximize the dmrlng twrque in an
mdmh.untmem!h'umt.ﬂupmdmﬁby
shunt corl and series coil shonld be

(A} in phase with each other

1B} inqu.adm_l'.umwﬂhénﬂtdhar

(C) displaced by 45° with respect to each
other .

(D) out of phase with respect to each other

Te minimize the errors due to lead and

oantact resistaoces, low resistances used in
electrical measgrement work ars provided

with

(A) guard rings
{B} Fur terminala
(C) thick insulaiion
(D} metal shialds
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u‘a.

Examini the twe statements ‘A’ and K and
ublectwu.rmnuur_

Statemernt A * 3 .
Switehing of & lamp in house produces
noies in a radic.

Statement R :

Eﬂmhmgupenhnnpmﬂmm HETORE
separating contacta.

(A) Both A ond H are true and R is a correct
axplanation of A

Both A and B are troe and R is not A
. corredt explenation of A

(C} “Ais troe but R is falss

(D) A'infales but R i trie

The small pockets of air in the high voltage
cable provide relative permittivigy,
electric field and at these sites
breakdgwn is likely to be initiated.
(&) high, bigh B) low, low
(C) low, high (D} “high, low

B

.mmhmmedhemmmm

cores of -2 3-core cable with the shoath

earthed is-3 uF. The capacitance per phace

will be

(M) tHpF qm GpF
i) 1uF [11)] Hmuuflhlm
In an ineulated’ cable having core dasveter

126

and overall dibmeter D, the ratio of
to minimum dielectric streas is given by
) (fay® @) @’ -
Cy D - (D dfD-

'mehm-buuuumnwam

trrealkoer, ﬂﬂmmmh
1A) more .

B loms : .

(C) equal -

(o) th&mmwﬂmdhmm

128, In elecronie circnits, far blscking .i.'lmlll

component of a veltage signsl, a/an |

- s connected in series with the voltages source,

{A) eapacitor {B} .dinde

(C) resistor (D) indwctor

For ntype ssmiconductor, the doping
material is

{A) totrovalent {B) pemtavalent

(C) trivalent (D) hivalent

Anmwmunbmhmmm
an amplifier of input capacitance 01 pF.
Volee of C that muat be comnected across
lﬂﬂkhmﬂk&ﬂmmﬂl!ﬂniﬂ%ﬁﬂf
frequency, is

—
m%
——————a to amplifier

:uu?é

D . Wi
(A} 001 uF B) O-1pP
© 1up (D) 10 uF

Silicon content in iron laminstion is kept
within 5% as it

{A) makes the material brittle

(B) redwces the curie point

(C) increases hysteresia loss

(I} incTeascs coat

A waltmeter 8 merked 1547304,

300V / 600V and its scale in marked up to

mmmmmmmm
30 A, 600 V, the point indicated 2000 watts.
The actial power in the cirouit is

(A) 2000 waits (B) 4000 watts

(C) G000 watin (D) BOND watta
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133,

Resistance switching is normally emplayed in
(A) bulk oil breakers

(B) minimum oil breakers

) air blast circuit breakers

i allofA, Band C

Iftha-mﬁaquiﬁ’uﬂtemnﬁng-
voltage is m, then the angular frequency of

. instantaneous reel power absorbed in an ac

135.

circuit ia
A 2w (B

€} I (D o2

K he . ransistor having Veg = 5V,

vBE:ﬂ-’!vhuﬂ-xﬁ.'\ra}mpfﬂiﬂ

8314k

(B)
(AR )] 91718- k

A) BEBdk
W) TA1H k

in a balancsd 3-phase cirenit, the line current
8 12 A. When the power is measured by two
walitmetor method, éne metsr veads 11 kW
wmmtlmuﬂlumdnum Fuwsrflm‘.m'urmn
load is

(A} O
G 0866

(HB) O&
) 10

137.

[y

To cade of frosted GLS Jamps, frosting is donie
by
LA
1B}
C)

acid etching
ammonia
DRGMA

szt waker

If the supply polarity to the armature
terminale of a separately excited d.c. motor is
reversed, the motor will run under

(A) Pluggng condition

LB Eﬂmnu'nhﬂtrrnk:ms mndi‘um:

138, For

140,

141.

. LAD

(€ Dynamic bnll.lnﬁ condition
(D} Mormal motoring eondition

welding purposs, the secondary of
transformer- used should be capable of
CAITYing

(A} high voltage, high corrent

(BY high voltage, low current

[C} Towr voltage, high cwrrent

D) low voltage, ow current

Which of the following is eorrect 7

{A) Lond facior = capacity factor ¥ utilisation
factor

{B) TTdbaation factor = capacdty factor « load
 boctor

() Capadty farter = load facter = wtilisation
factor

(D) I.l:ﬂﬂl'ﬂ:hthnmmtmnwﬂh:upnmty
fartor and utilisatien factor

In & motor starter, the elsctromechanical
m:wprmxdmuﬂmrmt protection
againsl

(B
i
(o
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142, Inthe:ircdt.thhl:inpﬂwmﬂmhld 148,

across the eapacitor of 2 F. Corrent ﬂm:u;h
the capacitor is

w M B P

o BT
-:131- UI_ ol . st
B I N B N

(i) " --I_ _'

148,

D)

143. In & semivonduactor, the resiglivity
&) depends an temperature
(K} depanda o woltage
() depends on surrent through it 148.
(D} Nemie of the above :

H_-t. A geyser is operated from 230 V, 50 o8 maina.
The frequency of  iostanbaneous power
comaumed by the guyser is.

{A) 6ol " {B) EGdla
(C) 100 s m} 160 ofe

145. Ampere-second is the uit of

(A} emf (B) power
{C} electriocherge (D) energy

Two losey capacitors with equal capacitanes
valygs and porwer factors of 0-01 and 002 are
in parallsl, and the combination is supplied
from a sinusnidal voltage source. The nower

factor of the combination is
@ 003 ®) o015
© 001 D) 00002

A voltmeler whem conmected across a dc
supply, rends 124V. When a series
combination of the voltmeter and an
unknywn resistance X i connected across the
aupply, the meler reads 4 V. o the resistance
of the yoltmeter is 50 k2, the value of X is

(A) 1550 k2 B 1600 k2
(Ch 1-6 kD D) 1-5 M

The purpose of providing & choke io the
tube-Tight iz

(4) to eliminate the corona effects

(B) to avoid radio interference

(C) te improve power factor

) to limit qurrent to appropriats value

In a 3phuse 400 V., dowire EFEtem, two
incandescont lamps, one having 230 V, 100 W
specification and the other 230 V, 200 W
are connected between B phase nentral and.
thue-;mutmirmpumnly If the nautrsl
wire breakes

(A) 100 W lamp will fuse first
(B} 200 W lamp will fuse firat
{C) both the lomps will fuse together
(D} both the lampa will glow
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158. A solenwid of inductsnce 260 mH and | 155 If the insulation resistance of 2 m long aample
remistance 10 0 in connected to o batdacy. The of a cable is 10 M, then a & m long sample of
Hmmhnhrthamngnehnmnhrm the same will have an insulation resistance of
iy ufiummmmmluam 1A} 40 MO (B) 2:5MQ

iCc) 2
(A} log, (2) B 167" log, i2) 0 2k B 56w
1 168. An ndoctor is supplisd from s sinusoidal
© 2 log, @ ) an 0% @ voltage source. Tha magnetic field energy in
_ = the inductor changes from peak value o

151. The peak value of the outpul voltege of a minimum value in 10 mesc. The supply
half-wave rectifier is 100 V. The r.m.s. value frequency is
:unhﬂwmmﬂﬂﬂumuwmll (A) 50 Ha IEJ 95 Hz -

’ (™) 1kH=z .
A 10DV {B} B0V ¥ ADGER
) 7TV (D) 3585V 187, Two 2000 O, 2 watt resistors gre sonnected in
LG, 'mtmmdmuitwhn . watlage rating are
. , (A) 10000, 2watt (H) 1000 0, 4 watt
\fl—“}_ v {C) 20000 4watt (D) 20000, 2 watt
™ R, L58. We have three redistances each of valus 1 2,
L _ 25 and 3 €. IF all the: three resistances are Lo
be: conmected in a ereuit, how many different
. values of equivalent resistanes are poasible 7
28y {A) Five B) Six
-ﬂ]rr (C) Bewen (D) Eight
(A) memostable multivibrater 158. One B.O.T. unit is
(B) astabls multivibrator ' (A} 1000 kWh (B) 10kWh
(C) Schmitt trigger - '
(D) bistable multivibrator 1Cy 1 kWh _';D] r1EkWh
: . L 180, An electric heater dr 1000 from
1EE. The input resistance of g FET is of the order| - Eﬁnvmu:m.fl‘thu::!dnm:::nam;
v . source is
(A) looo (B) - 10 kit
{A) ADOW () 640w
iC) 1 MO D) 100 Mo
. (G 100G W M 1562-6W

Mhamﬁ‘ummma;ILMSMumehm&BuF
sinvgoidal woltage sourve, voltage acrose R - copacitor & in parallel with thiz series
andhma\rnnd4\'mp-¢hvﬂy1h ¢ arrangement. The equivalent capacitance of
supply voltage iz then ) . this combination is .

Ay TV S B 1V _ (A} TpF (B} 15 uF
© 35V o} &V (C) 38uF D) 1uF
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168,

A de series motor has an armsbure recdstanon

of 0-08 {1 and series Gald resstance of 0-08 €2 |-

The motor is conpected to a 400 ¥V supply. The
line current is 20 A when the speed of the
machine i 1100 rpm. When the Jine current
is B0 A and the excitstion is increased by
3%, apeod of the machine in rpm is

{A) 1100 (B} 1008

(©) 837 M) ss8

The voltage acrese R, L and O we 8 'V.‘,ld."l.lr
and 10 V¥ respectively as in the figare. If the
voltage mource iz sinnsoidal, then ﬂnmput

vuhm{tm..'ﬁu
— AV 14V 10V
—AAAN EEERI |
3 . L C
W
(A 10V ® 8V
iy 25V

il 15V

In 1-phasc geries RL eirenit fad by voltage

poures, the reslslancs and reactance valiues
are 4 obim esch. In this drcuit "

{4) the rurrent leads the voltage by 45°
() the current lags the voliage by 45°

{C) ﬂumlmﬂuvﬂmhrﬂ"

{0} Nons of the shove

165, Superposition thewwem requirse as many

circuits Lo be solved as there are
(A} nodes

(B} acurces

{C) lmps_

(D) Nowa of the above

184,

In eguirrel-cage induction motor, the rotor
conductors are

{B) shart circuited via end rings.

{C) shert cirewited vin external repctance,
{I) short circuited via external resistance.,

187. A 3-phase synchromous motor is started by

utilizing the torque developed in

- (B} the damper winding on the rotor.

188,

A 4-5A

{C) the damper winding oo the statar.
(D) the low-speed water-turbine.

If the frequency of input voltage of &

tranaformer  ia  incressed |kteping  the

magnitude of the wltage anchangad, then

(&) both hysterceis loss and eddy current
loss in the core will incresss.

(B] hystaresiz Joss will increass but eddy
current loas will decreass.

(C) hysteresis logs will increase but eddy

(D) hysteresis loss will decrease but oddy
currant Joas will incriase.

Two single-phage ac motors A and B opernte
from a 1000 V mupply. A consumes 2 kW at a
power factor of 0-8 (lagging} and B consumes
1 XW at & power factor of 0-5 {lagging), The
total cnrrent drawe feoem Hhe supply =

approximately
(B) 214

(C] 4414 Dy 94

lﬁ.mmwhmmdhw—wﬂhmﬂndini

resigtancen of a distribution transformer of
100 KVA, 1100/220 volts, 50 Hz are 01 Q and
0004 0 regpectively.  The  equivalmt
resistances raferred to high-voltage side and
lrwr-voltage side are respectively

{A) 2604 0 and 02 £
(B) 025 mnd 0-008

() 010016 O and 2-604 £
() 0008 O arwd 010608 O
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AT

172.

178

174

A tank clreult consists of

{AY an inductor and a capacitor sonnerted in
eSS

(B! an inductor and
pasatlel .

{C) a puws iodoclonee and a pure

(M a purse inductancs and a ‘pure
capacitance confected in parallsl

& capaciter conmerted in

voltage source has in each cycle
(A negative terics, zero foor times
(B} zero twice, negative once

() negative four times, zere tuice
(D) negative twice, soro onee

In & serise B-L-C cieeuit, the “CO-factor” is
given by

Y
v
BEYL

[&

(B} q-
) Q=

i Q=R

In an 8c clreuit, V = (200 + j40) V and
I = (30 - j10) A The nctive and reactive
power of the cirewit are respectively

(A) 6400 W, 800 VAR capacitive

(B) 6400 W, 600 VAR inductive

(C) 5E00 W, 3200 VAR caparitive .

(D) 5600 W, 3200 VAR inductive

178, Applieation of Norton's theorem in a circuit

177.

(B}

176,
The instantaneous power of a 1-phase series | - -

citenit sapplying R-L lead from a sinuspidal |

reaults in

{A}) a corrent apurce snd an impedancs in
paralle]l .

a vollage source and an impedones in
series '
an ideal voltage gource

an ideal current source

{8}
m

108 —i

The voltage iv) wa. l;urr.ent D) curve of the
circuit is shown below :

5 A

ol
[nterns! resisiane: of the souree e ia
(A} 21 (B) 48
) 188 (B 140

Value of the load impedanée iLﬁh‘ which the
load consumes maximum power is

Ty =30+j100
[ 7o i e

- ==
m@.%} Z,

(A) o0 < at & power factor of (-6 lead
{B) 500 at a power factor of 0-6 lag
{0 300 al s power fuetor of anity
(D) MNome of the above
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178,

178,

' The epeed-torque characteristic of a dc series | 180. Three equal impedances are first cunnected in
motor oparating from a constant voltage delta acrosae‘s 3-phase balanced supply. If the
lnppljru_ o ’  aame impodsnces wro connected in star across
‘ the same supply '
(A) phase currents will be %amgm'mm
value. ¢
- 'G}I&nmﬁﬂh%u&‘ﬂnmﬂm
1' value,
(B 1
IEC) power consumed will be 3 of the
Torque —» previcua value
) . (D) power consumed will be 8 times the
(C) Spesd
Toagae —» i8l. The average value of the voltage wave
- E ¥ =110+ 175 sin (314 t - 25°) volts
1 i
(D) Speed 2, {A) 110V
B 176V
_+
s | (€} 16657V
(I 2087V )
Mitch List 1 (Machine) with List IT (Graph) | 188, A current from an ac source bifurcates into
and setect the appropriate: response. tlwhumuhmﬁ.nndﬂinpuﬂd,ﬂumhﬂia
. " an inductor with 30 uH inductance and I Q
List T - FLise IT " remiatance, Branch B is ancther inductor with
P mm ) Cirele disg: inductance L and 1-5 0 rosistanes. For the
) ’ ratio of currents in the bramches to be
b . DC Generatoy (i) V-curve : independent of anpply frequency, vales of L
c.  Alternator {iii) Open circait whould be :
- - charmcteristios {A) 30-5pH 1_3]. 20 pH
d  Induction meter (ifi} Speed-Torque {Ch 45 pH ) 206 uH
(A} a<iv), b(iti), o4D), d-(i) 183. A universal motor is one which
B} u (i), btiv), eid, di) :’;: :.rmﬁwm“d -1;1” ¢
- il ] k :
. () a-(iv), b, o-ii), d-(i} (C) can operste on ac as well as de voltage
(D) aiii), be(iv), o), d) (D) can wark s single-phase or three-phane
TN : motor
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184,

IT ihe ventrifugal dwith of a singbe-phuss

* registance gplit induction motar does not open

after starting of motor, the motor
(4) will run above normal speed
(B} will run below normal speed
(C) will draw very amall current

(o wi]]- draw high ecurrent and et

Alternators are wwually designed to generate
which type of ae. voltage ?

(A) With ixed frequency

{B) With variable frequency

i) Fized current

(D} Fized power factor

Three inductors each of 60 mH are connected
in delta. The valee nl"i.ml.l_.bd,_anu-_- of each arm
of the equivalent star connection is

1A) .l'nm]:[

(B) 16mH

2y 20mH

i} 30 mil

changes from pasimvm  value to minimum
value in 5 meec when conmected 1o an ac
source. The frequency of the source in Hz is
A 500 (B) 200

) 50 O %0

188,

A vollage souree hasving an open-circuit
voltage of 150 V and inbernslll resistance of
75 52, is equivalent to a current source of

LA} £ Ain series with 75 0
(B 2 Ain parallel with 37-5 0

' (C} 2 Ain parallel with 75

188,

1940,

{DJ 1A in parallel with 160 0

A 300 kW altermator is driven by a prime
mover of Epeed regulation 4% while the prime
mover of another 200 kW alternator has a
gpeed cepulation of 3%, When operating in.
parallel, the total load they can take without
any of them being overlonded is

(Al 500 kW
(B} BET kW
(C} 425 LW
(D) 257 kW

The tommutator in & 4.¢. machine acts as

{A) a mechamical ril:nre'rtm'

{B) 2 mechanical rectifier

i9l.

(C) current eoniroller
(D) either {4) or (B}

The purpose of using

ﬂummymil in de
machines is ko oo

(A elmmnle harmonics developed in the
L
(B} eliminate srmatiure reaction

(C) bring mechanical balance of
armature .

(D) bring mechanir=] halance of the hody of
the moter '

the
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182, An i.m:lu-c‘l.qr- with a ferromagnetic core is
enpolicd from a zimussidal voltage sou
with frequency *F. The ecurrent drawn by
imnductor will b
(&) sinuspidal with frequenicy
(B minuseldal with frequency "2
iC) & pawiooth wave.

(I non-sinuzcidal with frequency T

193, For a 6-pole d.e machine with wave wound

armaturs, the number of broshes required is

A 2 (B) 4
i 'a > 12

1%4. Function of interpoles in a d.c. machine is to
(A) redove Seld winding heating.

() improve commutation.

() compensate for air-gap vasiation.
DN reduce loames '

286, The commutator segments of d.c. machine ara

made of

{A)  tungelen

(B) hard-dtawn copper

(€Y soft copper

(¥ electrolytic copper . T

186. Which one of the following is a speed contrel

method of three -phase squirrel cage induction | -

monr T

{A} Plugging method

AB) Star delia switch method
(€) Pole-changing method
(D) Centrifugal eluteh method

197, In the circuit ag shown, voltage measured
betwesn A, B is found to be 70V, Vatue of M
i% '

+ TV ...
_@_ M m_—@)&
+ ] =
1oovlD  100mH E 200 mH
3
{A) S0mH (B} 100 mFE -
(©) 200 mH (D) T0mH
198. Two coupled coils, connected in series, have
an equivalent inductarice of 18 mH or 2 mH
depending on the conneetion. The mulsal
inductance between the coils is
(A 12mH ’
B 82 mH
Cy 4 mH
M 2mH
158, Teela is the umit of
A} electric NMuy density
(B} magnetic field inteasity
(C3  eléctric finld intensity
(D) msapnetic lux density
200, Which one of the following is h-trlll.id value of

coeflicient of
imduactars 7

(A 1-414
{B) 09

{C) 1-7az
oy 1732

coupling  between ~  two
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161.

10

108.

TEST (iif)
C: GENERAL ENGINEERING

PART -

(MECHANICAL)

In wheel and :I:ﬂimmtml axle, the velocity
_raﬁuiﬁgi\rﬁ_nh].r

d, —d .ood, —d
{41 1 2 L E4
. 2D ® 4D
FAL] 3D
i (D)
-4 &4,

(A} railway carmiage couplings

(B} spindles of banch vices

G} perew eutting lathes -

(M) feed mechaniso of machine tools

Inaﬂmmnguwmnr,.Mmeiaw
on the sleeve at minimom radius and 1208 N
foree in exerted at masium radivs. If aleeve
lift is 20 mon,-the value of spring etiffness (s}
h 3

(B) 20 Nfmm

(A) 10 M/mm
(€ 15 Nfman (M} 18 N/mm
The maximuwm and minievwim speeds of =

104,

106,

flywheal during & eycle ate Ny and Ny r.p.m.
regpectively. The coefficient of steadiness of
the flywheel is

Ny -Ng

ANy + Nyg)

®) Ny+Ng .

ANy - Ng»

(@ ZN, + Ny}

H; - Ny .
ﬂ:l‘} H:'l +H2
H_l - NE

The angle of Vee hells s
(B) 85°
(D) 45"

(A 307
o) ure

108,

107,

Which of the following statements iz mod troe

~for eouplings ?

(&) Couplings are meant for transmit ting

. torque

{B) Couplings keep the mating shafta in
" . ,

{C) Couplitggs are used in shafta

(I} Couplings connect porallel shafts

Thsamufthemmwhmthebdtn

* running on the pulley is

189,

110,

(A) less than the initial tension

(B) more than the initial tension

() moore than twics the initial tension
(D} half the initial tension .
A stecl bar is fized at both enda. If the bar is
hented, it will develop '

{A)' Compressive stress

(B Tensile streaa

(C) Bending stroess

(D) Mone of the phove

For a screw, the angie of helix () is related to
the lead (L) and mean screw thread diameter
{d) as '

L .4
LAY tanu'.-d (B) tan o=
L nd
Cl tan it = — i
(C) tan @ = (D} tan o
Aalid&rﬂ‘ankchain_iuafuurhmlinkm

consisting of
(A)
(B
iy
m

one aliding pair and twe turaing pairs
one aliding pair and thres turning pairs
two gliding pairs end two rotating paive
two sliding pairs uad two lerning pairs
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111.

112,

113.

114,

H two shalts of the same langth, one of which
1 hollow, transmit sgqual torgues and have
equal maxmum streas, then they should have
gt

(A} polar moment of inertia

() polar modulus of section

() diameter,

(1) cmgle of twjst

In caee of eantilever, irrespective of the type
of loading, the marimom bu:d:‘mg:_mmmt
ard maximurmn shear fores ccour at

(A) fAzed end (E) free end
() middle (D) any point

Ratio of moment of ingrtia of & grele and that
of & square having same ares aboot their
centroidal axis is

3

d Er

y 1]

() o

A circular shaft can tranemit a torgue of
138 EM-m. If the torquos is vedused to 18 kN-m,
then the maximum velue of bending moment
that can b applied to the shadl is

(A) 1kN-m (B) 3kN-m
(© 5kN-m (D) 7kN-m

(B)

(i

RIS nly

L16. Assertion (A

Tl-mpmfamdm-uaﬂanufnbem
aubjested  to  traneverse loading s
I section.

Rewsor (R)
Btﬂti.mn;ndldmuflhﬂnﬁuniﬂhw.
(A) BothA-MEmhunun&Rnnwm't

axplanation of A

(B) Both A and B sre tue but R is oot a
correct explanation of A

() Ais true bot R is false

(0) Ris troe but A is false

lllﬁpwmunnhnlmmdnuhkahdw

crank chain traces afan

(A) Heraight line path
(B} Circular path

() Paraholic path

117

(D) Elliptical path

The angular speed of 2 Wall's governor, when

. e height i 20 cm, will be cqual to

18

118,

(A} 20 radfses
(BY 10 rad/aec
(C) @ radfeec
(I T radfsec

The efficiency in case of worm gear drives is
genarally in the range of

(A) 10 - 25 percent

(B} 40 - 80 percent

(C) 50 - 70 percent

(D3 70— 85 pervent

In a kinematic ofiain, the minimum nember
of Kinematie pairs roquired is
(A) ome (B} two
() thres (¥ four

190, Forakg}rubeaquaﬂjnmmiheaﬂ_ngsnﬂ
. erushing, the width of the kay, assmyming that

191.-

the allowable. erushing stress is twice the

. allowable shear stress, should be

(A) 26 timea ita thickness

(B) Snmmmﬂm

w°y 1-5timuil:lthmh_:|w

(I equal to its thickneea

Tension in the Light side of a bell drive is
100 N and that in the alack side 80 N. If the
belt breadth is 10 em and thickness 4 em,
what i3 the mescmmm stress mduced i the
belt ?

(A) 25 Nfem?

(C) 4 Nfem®

(B} 15 Nfem®

(D) ZNfem®
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L

124,

125

188,

- 2

13T,

A uniform ginaply m.lppﬂriﬂll:ﬂl_uuuf._ﬂwuuﬁ
caTries g point lomd (W) at the cenbre. The
downword deflertbion at the ceobre will he

Ay wi'fs EI (B} W3 EL

o RWIERAET (I WiVME BI

The power transmibtted by o cireculer shafi
rolating at M rpm vader scbion of Torgoe T 18
LA B NT/TSD (H) Zx NI/

() 2 WUF4G0 (T 2w SWNT/A80M)

A cylinder ia sanid to be thin if the thicknesa to
dhameter ratio is leas than

ihl LS (B I/10
Ch 115 120
The bendiege momant on & bE-]

Aactiors
maTimum where ghearing foros: in ’
(&) Minimnm (B Masmwon

{Z) Hero (D Chussge nag ign

Strul is defined a2 & _

a) Member of 8 sunciure which earries o
tanaile load

Beinber of a strscture which carries an
axial comnpressive load

Wortiend musnber ol a slbructors which
carrtas A tensla boad -

Vertical owember of 8 atmecnrs. whick
cartima o lnsd E

i S
(D

2
The axpresaien I pdvy  gives the mcasare
.

ot work done during

A steady Tow reversible priscess
By mnon-flow reveraible process
(2} apen apatam and any process
() ony system and ooy pooceEs

138,

120,

1300

L31.

Tha valoe of Poissnn’a Tatbio s alwayve loes
than

CAY 1 By 2

1y -2 (D} o5

The sapindle of o mochine todl 1= subyectad te
the followingr Ly n’f Toraned :

LAy Torslonal load

(B} Beuding boad

(2 Axial compressive lodad

(D) Axind tensils iead

The crasg-gection of a member is subjered
a umiform shear stress @ The strain eneogy

stored per wumit  volume i@ equal  do
(G = modulus of rigidity}
2 <
LA o (EE) =
- A2 263
[U] ey (o =

o)
|2

B. /fﬁ”_ﬁ-:‘"‘x

i

o

.

Iy,

Figures A, B, & and 1) are hending moment
distribulivos of a aimply supporkbesd beans fore
soane  particulas - ghear  stoess  distribution.
Whirh figura is the ocorrect bending oot
disgram corresponding to the shear stresa

. dizbribation given below ©

L+

=

Az eorreet bonding: moment distribo Gon
B iz eorreet bending moment distribo o
C is eorrect bending moment distribulion
D iv cpreect bending roment distribution

()
L]
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1482,

185,

Which property i an mtensive property of the
ayetem ? )
(&) Specific enthalpy

What approximate pereontage of heat  of
water 7

(B) Volume (A) 5% (B} 10%
(C) Einatic energy (C) 1a% (I} 25%
{D) Entropy

One of the extensive properties of a
thermodynamic system amengat the fallowing
i

(A} pressure
(3 tempersture

(B) wolume
(D} density

A heat engine is supplied with 278 kW of heat
at & constant fired tempermture of Z83°C and
the heat rejection takes place at 5°C. The

144,

If two liquids st different temperstures are
mixed, then the final femperature of the
mixture of liquids can be obtained by using
(A} Zeroth law of thermodynarmies

(B} Firet law of thermodynamics

C) Second law of thermodynamics

(D} Third law of thermodynamics

For an irreversible thermodynamic cycie

eogine 18 reversible if the heat eejected, in da dQ
KW, is ' () .[‘TI.‘H:.(. (B) ?\-u
(A) 139 (Bl 208 - :
© 85 o T0 © I%gzn D) j-‘i:isu
i | 141. The enthalpy of evaporation of water
Function hurattar supply ) .
n.l . jdm _— o {A) decreases with incrésse in pressure
- (B} decremses with decrease in pressure
(B) air and diesel mivture A ool p
(T} increases with increase in pressure
(C) anly patrol 1) remains unaffected by change in
(D} petrol and diesal mixture

In a hoiler, the feed check valve is used to
(A) cantrol the feed water Oow rate

(B] cheek the water level in drum

(C) ensure unidirectional feed flow to drum
(D} check quality of feed water

When wet steam flows through n throttle

valve

(A} Me temperature increases and dryness
Improves

{E}.ita temperature increases but dryness
drerasses . :

1142,

143,

144,

pressyre

In & throitling process, the fllowing
thermodynanyic properiy remains congtant :
{A) Enthalpy (B) Entropy ’
() Specific heat (D} Energy

Heat supphed to a aymem cquals the work
done in case of non-flow proeess carried out
(A)  isochorically {1 ischarically

(3) isothermally (D) adinbatically
Meglecting changes in potential and kinetic
energies, the shaft work during a steady flow
process iE given by

{C) ite tempernture decreases but dryness W [pav B [vdp
(D} its temperature and dryteas decrease c [T_ﬂi D) [sar
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Ldd.

L46.

147,

148,

148,

18

1561.

In dicsel engine, the suction contains
(A) airanly

(B} fuel only

(0} mivbare of adr and fuel

(D} air or fiel

The fluid drawn in during suetion in petrol
engine containg '

&) fuel ooty

{B; fuel or air

{C} aironly ' -

(D) mixture of air and feel

Spark ipnition engire iz

(A) petrol engine  (B) diesel engine

(C) steam engine {IEI_} C.I. angine

The working fluid for & diesel engine during
the suction stroke is

(&) fuel-air mizture.

(B} fresh nir

(C) produrts of combustion

{0} Mone of the above

Ehra.mumwtnnnk,ifthee:ilprmmmia

less than critical pressure, the masa rate of

Now wrill be :
{A) inereasing . (B) decreasing
C) =ore (I} econstant

In impulse {urbine, pressure on the two sides
of the moving blades

(A} increases )

{B) decrenses

{0 remains ssme .

(1)} may decresse or renain constant

Brayton cyele e a reversed
{A) Carnot cyele {B) Rankine cycle
{C) oJoule cycle (D) Dunl eyele

1

153.

154.

In internal combustion engine terminology,
MPFI stands for

tA) Multi Pressure Fuel Injection .

B3 Multi Point Fired Ignition

¢C3 Multi Point Fuel! Injection

{I¥ Multi Pressure Fired Ignition

For eomplate burning of | kg of carbon, the

air required will be abait

(A) 267 kg (Bl 127 kg
W) 116 kg (D) 145 kg
ltun-:f'mfnaerﬂmn is equivalent to
(A} 1hW B Z5kW
©) 36kW (D} 5 kW

1.8

157.

158,

158.

Knocking tecdency in an 51 engine redoces
{A) Compression ratio

{B} Wall temperatars

€] Superchargiog

iD Engine speed

Cetane number of a fual is @ measure of itz

A) wacnaity

(B} valatility
{C) ipmition quality

- (TN APT apecific gravity

Critical pregsure for ateam iz

(A 252 bar (B} 225 bar

(CY 184 bar (T 163 hor
‘Mazimum eteam prossure {in bar) inm oa
locomotive boiler s limided to

(A) B (B} 10

w18 (D) 25

Compounding of steam turbing is done to
{A) balanes the rotor

‘(B) reduce the blade friction

) reduce the rotor speed
(I mn:wciﬂwsha&vfuqeturﬁingtnﬂmtaf
another o
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180,

©

181.

Lt

. supersonie fhow, it must be

Francis Turhine ig bogt anited for
(A
;K

all types of heads

mediom head application from 24 to
180 m

low haad inﬂtﬂ]latin:'ua up ta 3k m

{0} high head installationa above 180 m

Hend developed by a r_entrifu.gl pamp
depends an

{A) Impeller dinmeter
(B) Speed-

(C) Type of casing
(D) (A) and (R) above

The verties]l distance of the center of pressure
below the c.g. of the inelined plane area
{mabmerged m ligud) is

|
Ay =T 7
(4] AR

|

i -
(B) Ax
e L. Asin® &
: X

I, . Aeoat@
Dy - ;
(o} =

where © = inclination of plane xrea
x = distanee of c.g. of plane area from
free liguid surface ’

For a nozzle to convert subsorme fow imto a
A) cﬂn-!.rermtiype.-

(B) divergsnt type .

C) esnvergent-divergent type

(D of yniform cross-sectional aren.

166,

For the same mavimum pressure snd pesk
temperature, which ocle will be most
afficient ?

1A} Dhessl

(I Dual combustion

() Ontla

(1Y None of the above

An ider] Nuid
Al
B
(L8]
()

has no viecosity

eatisfies the relation pv = RT

obeys Newton's Law of Viscosity

ig both incompressihle and non-viscous

For small discharge at high pressuore
foilowing puimp it preficred & '

(A} Mixed fNow

(B! Reeiprocaling

() Axial flow

(DY Centrifugal

167.

188.

1o a Heaction Turbine

(A) flow can be regulated witheut loss

(B} water may be allowed to enter & parl or
whale of wheel eircumference

{7} the outlet must be above the tail race

(D} there iz oply parlial conversion of
available hesd . to veloeily head before
eniry Lo runner

Impulse Tushine is generslly Gtled

LAl little above the tail race

(B} at the level of the tail race

{C} slightly below the tail race

(1N about 36 meters below the tail race
In general, the vanes of a centeifugal pump
Aars

(A curved forward

(B} curved backward

1y radial

{1 twisted
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1.

A rectanguisr tank of sguare cross-section
(2 mx 2 m)and height 4 m is completaly

" filled np with = liguid. The tatic of total

17.

172.

178,

174,

hydreatatic force om n:rverhnllwnl] to it
battom ie

- {8) 16
0 05

(A 240
i 10

Air vewsal ia usad in a reciprocating pump o |

abtain
(A} reduction of suction head
(B} rise in delbrery haad

{G} mhmﬂppl!ﬂfﬂﬁﬂ'ﬂtmih'm
rate

(D;- increass in sepply of water

E.haqrahulinntnhuhlﬁ_ﬂwi.ldmh
{A) wiscous property of the fluid
(B} Iluidliu-:il'.r‘

{C} fluckuation of velocity in the direction of
Torer

D}y fluetustion of velocity in the direction of
flow aa well as traneverse ba it

The discharge through a single sctng
reciprocating pomp ia [N — rpam]

(A) Q-MJ‘_T

(B) Q= ALN/o0

0y G =2ALNG0

(N @=2ALN

For viscous flow between two parallel plates,
thepzmn-ﬁnpw'wthugthinamulh
t4) 12, TL/egD?

(B) 12pT fD*

€ 1BpUL/D?

M 82pUL/D?

178.

178,

77,

Li)-H

118,

A liquid moving with constant ongular
mementurn has tangential veloeity of 1-2 m/a,
2 m from axie of rotation. The tangential
velogiy at 15 m from axié of rotation, in mvs,
ia ’

(A} 06 {B} 375

) a4 Dy 60

With the same aross-sectional sres and placed

in the turbulent fAow, Mlﬁfﬂﬂﬂﬂﬂl‘wﬂ]h

wﬂhr

(A} B sphere

(B} a streamlined body

{C) & circular disc held normal to the fow
Yirect

a circular disc held parallel to the flow

directi

(D}

A gtreamlined body is such that
{A) it produces no drag for flow arcund it

(B) it in nymnnh‘im.‘:u]:m.u.l.tlmmalnng
the [res stream

{Ch npunhmﬂﬂuwlsm'oiﬂadulunsih
surface

(D} the shape of the body coincides with the
stream surface

Pa.nta]aamnduﬂmmntﬂf

(A) preasurs -

{B) lkinewatic viscosity

{1} dynamic viscosity

(D} surface tension

The shear stress in a turbulent pipe firw
(A) vavies paraholically with rading
{B) ieconstant over the pipe radius
wammmﬂt%mwln

(D) is sero at the centre snd increases
linearly to the wall

{0
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180,

1848,

{C) 250 — 500 kgifom®

In order to get the uniform thickness of the
plate by rolling prockss, one provides

{A) Camber on the Tolls

(B) Offsetontherolls

{C) Hardening of the rells

(I Antifriction bearing

The most important requisite of & cutting tool |.

material ia

(A} earbon percentage

(B} percontage of alloying element
1} red thot) hardness

I[N eagy fabrication

The esldering process ie vauried ocut io the
lemperaturs rangs .

{A) 15-80°C B} 70 - 150°C

{C) 180 —2R0°C (D) 500 —BOOC

Ior electrical resistance welding, both heat and
preasure are used to effsct sosloscence. The

pressure neceagary to effect the weld varies | -

from
(A} 60— 100 kgffem®
(B} 100 — 200 kgfjom®

(D) BOO - 850 kgffom”

The angle between the face and the flank of
the mngle point cutting tool is known na

(A) rake angle

{B} clearance angle

1) Lip angle

(I mide angle

curve for a turbine is shewn in figure. Curve
B ie for

Qu

Ny

(A Franeia turbine

1848,

187,

| 188,

129,

(B) Kaplan turbine
{C) Pelton turbine

(D) Fropeller turhing

Permoahility is poor far
(&) Fioe grains (B Medium grains
(C) Coarse graing (D) Rounded grains

Diws for wire drawing are made of

(A) Cast Steel '

(B) CastTren

(C)y Carbides

(D} Wrought Tran

In Thermit welding, Aluminiem and Iron
oxide are mized in the propontion of )
(A 1:3 m 1:2

(e 1:1 ) 2:1

Metal patterns are used for

(A} =small castings

(B} large castings

iy meﬂmmmmn#
(D} largs pemlo produstion of castings
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190,

191,

192,

€} Extrngion

193.

L4

(m

Tovl sgnature comprises of how  many
elements ¥

(Al 5 (B 7

i 9 Dy 11

A halfmut ia

(A) nut manufectured in parts
(B} nut with half the standard pitch
{C) adouble start nut for a quick shaft

{I)) mechanism that locks the lathe earringe
to the lead scraw for thrend cutting

Auntormnobrile gears are generally meanufactured

by
(A) Hobbing

(B Stamping
{13 Rolling

Spot welding i moest suitahie for joining parts
having thickness up to

(B), 30 mm

{ID]_ 10 mm

{A) 50 mm
{C) 20 mm _
Thermit welding differs from other methods
of welding in that

{A)
By
iCh

it does not nse heat

it is legs time consumang

it does not require electrodes

it employs exothermic chemical Teaction
for developing high temperature

The binder in case of synthetic sand used for
moulding is

(A Clay

(B} Mﬂi&mi.:i

C) Water

(D) Bentonits and weter =~

196,

197,

198,

199,

The commonly used flux for Brazing is
(A Slag

{B) Barax

{C) Lead

(D} Calciwm chloride

Blanking and piereing operations can be
perfirmed slmultaveously in i

(A} Simple die

E'B?.Gﬂmpuund dic

tC) Progressive die

{I¥} Combination die

If eloctrie current is passed - through the
metals to be joined and haated to the plastic -
state and weld is mp]ubad by the
apphcation of pressure, the welding is known
a8

iA) Forge weld

B} Elecric are welding

{C) Resistanee welding

(1) Thermit welding with pressure

In case of shaper, for finish machining, the
practice is to use

(A) maximum feeds at high speeds

{B) raaximum feeds at =low spaeds

{C) minimum feeds at slow speeds

(I minimum feeds at high speeds

In which milling operation, is the aurface
finizh bether 7 - :

(&) Climb

(BY Down

{Cy Conventional
(0} Face
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